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Find the Quotient

(The answers are in the "Answers"
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1. 4‘ 897 2. 2‘ 994

3. 8| 380 4. 9| 279

5. 4| 761 6. 7| 942

PRACTICE MAKES GENIUS



Answers

1. 2 2 4R1 2 4 9 7Ro
4 897 2| 994
- Sl - 8
39\ 19
- 8 - 18
17 14
-16 - 14
_lRemainder _ORemainder
3. 4 7 R4 4. 31Ro
8] 380 of 279
-0 -_ 0}
38 \ 27
-32 - 27
60 09
-5 6 - 9
_4Remainder _ORemainder
5. 19 O0R 6 1 34Rr4
4 761 7 942
4l -_ 71
?6\ 24
36 - 21
01 32
- 0 0 - 28
1 Remainder _4Remainder

PRACTICE MAKES GENIUS
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Find the Quotient

(The answers are in the "Answers"
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1. 5‘ 764 2. 3‘ 568

3. 9| 399 4. 8| 784

5. 7| 362 6. 9| 988

PRACTICE MAKES GENIUS



Answers
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Remainder

R3 4. 9 8 R0
g] 784

3 Remainder Remainder

3R 6. 1 09R7
2
- 9l
\ 08
- 060
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1

Remainder 7 Remainder

PRACTICE MAKES GENIUS
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Find the Quotient

(The answers are in the "Answers"
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i
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-
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1. 2‘ 544 2. 6‘ 687

3. 3| 429 4. 5| 785

5. 9| 433 6. 4| 932

PRACTICE MAKES GENIUS



Answers

1. 2 7 2RO 2 114R3
5 4 4 6] 687
4l -_61
T4\ _08\
14 - 06
0 4 2 7
O 4 - 24
O Remainder _3Remainder
3. 1 4 3Ro 4 157Ro
3] 429 s| 785
-3 Y
Tz\ _28|
-12 - 25
0 9 35
-0 9 - 5
_ORemainder _ORemainder
5. 4 8R 6. 2 3 3RO
9 4 3 3 4 932
-0} . 8
43 _13\
-36 - 12
7 3 12
-7 2 - 12
1 Remainder _ORemainder

PRACTICE MAKES GENIUS



